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Tl I
9) (a), (b), (c) ?) (a), (b), (d) 3) (a), (b) 8) (a), (b), (c), (d)

Read the following passages and respond to the questions that follow each passage. Your responses should
be based on the passages.

Question number 1to 5 :

Following the microlith groupings along the hill, one conclusion is unavoidable. These tools represent the pre -
metal and pre - pottery stage when the valley bottom was not cleared of jungle. With herds of animals considerable
food - gathering sporadic cultivation to eke out and some hunting, they may be called Mesolithic cultures.

Such a population had to shift constantly from place to place. Permanent settlement could not come before
the advent of cheap metal like iron. It is difficult to imagine the use of iron anywhere in the Deccan, earlier to the
Mauryan conquest. The deposits of copper in this region are uncommon. Even the Arthashastra does not speak of
iron in this area. The natural route of the savages before the swampy or forested valleys were opened for cultivations,
must have been along the hillocks.

The groups that moved along these tracks could not have been numerous. There was no question of their
possessing land, for land - ownership is not a primitive concept. Fixed plots were meaningless till the plough had
conquered the soil. For this, the fertile bottom lands had to be cleared of forests, which was not possible in our monsoon
country without iron tools in plenty. Land to the savage is territory, not property. In may opinion the still revered
Maharashtrian custom of 'gamva - sai' dates back to the presettlement days. This used to be the propitiation (at such
date as the Bhagat might set) of all local deities, spirits and goblins. The characteristic features was that villages used
to get deserted as every human being had to leave the village for seven or nine days. After living in the field or under
trees for the period, and performing the required worship and blood sacrifices, the inhabitants would return with the
hope of better crops, eradication of diseases and general well - being. The ceremonial return must be being conceived
as resettlement. The fixed cult - spots for pre - agricultural people would necessarily be where their regular paths
crossed, places where they met for - barter where the communities performed ceremonies or where they celebrated
their periodic fertility cults together. Thus, the crossways were logically the sites for the mother - goddess cults.
D Consider the following two statements.

a) During gamva Sai the people worshipped good and evil spirits.

b) The people worshipped them because they were afraid of them and wanted to please them.

Answer options :

1) Both the statements are correct and the second is the correct explanation for the first.

2) Both the statements are correct but the second is not entirely the explanation for the first.

3) Neither of the statements is correct. 4) The first is correct, the second is not.
2) When the agriculture was still to be practised what of the following was uncommon ?

1) gamva sai 2) love for the jungle

3) boasting of earmarked plots close by 4) none of the above option is correct.
3) What are the practices involved in the custom of 'Gamva Sai'?

a) Propitiation of gods b) Village should be deserted

¢) Ritual worship and blood sacrifice d) Barter trade

Answer options :

D) (a), (¢), (d) 2) (a), (b), (¢), (d) 3) (b), (¢), (d) 4) (a), (b), (c)
4) According to the author, what is not a pre - requisite for the beginning of settled agriculture?

a) Land should be tilled with a plough b) Iron should be abundantly available.

¢) Forests need to be cut and cleared. d) None of the above

Answer options :

D (c) 2)(b) 3)(d) 4) (a)
5 Sites for mother - goddess cults were at crossways because ...........

a) This is where the paths of the nomadic people crossed.
b) This is where the nomadic people exchanged goods.

¢) They could not cut the forests. d) Valleys were Swampy.

Answer options :

D) (a), (b), (¢) 2) (), (b), (d) 3) (a), (b) 4) (), (b), (¢), (d)
TRTHHAIE € T ¢ :

TPIS &l IS STTaTes AT STt softarofieht aRfR . goi-araT STHTd UTeasT STqRT JecaTie
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Question number 6to 8:

Drought is basically a distress situation caused by the failure of rainfall. This failure may be due to insufficient
rains or due to a wide gap between two or more spells of rein. Drought are of three types. A metrological drought is
a situation when the actual rainfall is significantly less than climatologically expected rainfall over a wide area. Here
the rains do not arrive in time and are in adequate. Such droughts are mainly concentrated in the areas falling
between arid and semi arid zones of the country and are characterised by high variability of rainfall.

Hydrological droughts are associated with the drying up off surface water such as rivers, streams, lackes and
reservoirs and fall in ground water levels. Such droughts are augmented by deforestation, mining, road construction,
over grazing and withdrawal of excessive ground water. All these factor contribute to hydrological instability leading
to droughts. Agricultural droughts or soil droughts occur when soils loss their effective moisture conserving
capacity. This prevents healthy crop growth. Such droughts may occur even when meterological droughts do not
occur and wise versa. Under extreme conditions of such a drought no plant exists and such a condition is called
desertification.

Although all these three forms of drought occur independent of each other the occurrence of meterological
drought is the basic reason for hydrological and agricultural droughts. Prolong metrerological drought results into
hydrological drought, and may, there after lead to agricultural drought. This transition is a very slow process.

6) Consider the following two statements.

a) Indry areas chances of receiving high or low rainfall are not high

b) Hydrological droughts begin with illicit felling of trees and overgrazing only.

Answer options :

1) Both are incorrect ~ 2) Both are correct  3) (a) is incorrect (b) is correct ~ 4) (a) is correct (b) is not
7 Read the following statements and choose the appropriate option.

a) Climatological drought is the cause for every drought

b) Hydrological drought is always an outcome of the human factors.
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Answer options :

1) (a) and (b) are correct 2) (a) and (b) both are wrong
3) (a) is correct (b) is wrong 4) (b)is correct, (a) is wrong.
8 If the wells grow in number in a specific area what kind of drought is likely to occur ?
1) Hydrological 2) Agricultural 3) Climatological 4) Rain based
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Question number 9to 12 :

The genetic diversity within the handful of crop and livestock species that feed humanity so-called germplasm
resources - holds much of the potential for improving agricultural performance. At the same time, great opportunities lie
in broadening the base of the species that provide our food and fiber. An agriculture, sufficient to feed the world’s
population that is expected to double in the next 40 years, will need to use both plant and animal diversities.

Increasing of harvests rests on a foundation of genetic diversity by bringing about improvement in the crop
upto a desired level. Throughout the history, the selection and breeding of superior plants was done by individual
farmers working on limited stocks in their fields, augmented by occasional spontaneous crosses with wild relatives
nearby. Cultivated crops, though single species, contained an incredible array of genetic types adapted to local
circumstances.

In industrial countries, few farmers can spare the time or land for plant breeding. The selection of high
performance crops today is done by government scientists and by private companies who sell specially bred seed
to farmers for planting. Farmers have traded their independence for higher performance and larger harvests; as a result,
a few-successful varieties are being planted on millions of acres.

Fifteen years after a devastating epidemic of Southern Corn Leaf Blight cut the U.S. corn harvest by 15 per cent
and alerted the nation to the genetic vulnerability of its crops, a visitor to the wheat fields of the Dakotas or the corn fields
of lowa can still see row upon row of uniform plants stretching to the horizon. Yet under this uniformity lie forms of
diversity not available to most of the world’s farmers. The many varieties under study, by the private plant breeding
industry, the widely available information on pest outbreaks and weather conditions worldwide that constitute an “early
warning system,” and a seed industry that can transport varieties quickly to areas that need them all protect
American farmers from fatal vulnerability. These safeguards have come at a substantial price : U.S. farmers now spend
over $ 4 billion each year on seeds, and while the cost per ton of grain harvested has declined in real terms over the
past three decades, the cost per harvested acre has doubled.

9 Consider the following two statements :

a) Today a large number of widely diff. species are getting planted over extensive areas.

b) Genetic diversity has led us to this situation.

Answer option :

1) (a) is correct and (b) is the correct explanation of (a)

2) (a) incorrect therefore the question does not arise about (b)

3) (a) is correct but (b) is not the correct explanation thereof,

4) Nothing can be made out from the passage about the statements.

10)  Consider the following two statements :

a) Higher profits is the main consideration for the farmers and the private companies all alike.

b) The wild crops have regularly helped their cultivated counter parts throughout the history in producing

superior varieties.

Answer options :

1) Both are correct 2) Neither is correct 3) (a) is correct (b) is not  4) (b) is correct (a) is not
11)  If we see the history of the genetic diversity the farmers.

a) have benefited from higher performance.

b) have become rich because of the larger production.

¢) have overcome the problems of planting of uniform plants.

d) but the circumstances do not allow them to decide for themselves.

e) the market driven tendencies force them to follow.

f) and the benefits come to them at a great cost.

1) (a), (b),(d), () 2) (), (b). (©).(d), () 3)(a), (b),(d), (e)and () 4)(a),(b),(c),(d),(e), ()
MPSC IST9aT gd URIe : 2093 gd U1 guR-2 / 4




12)  In Industrial countries the farmers who earlier did plant breeding are no more resorting to it because :

a) Govt. scientists want to take it upon themselves.

b) Private companies undertake plant breeding for their interests.

¢) The farmers are busy otherwise.

d) The farmers want to put their land to other use.

Answer options :

D) (a), (b) 2) (c) and (d) 3) (a), (b) and (¢) 4) (a), (b), (¢) and (d)
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Question number 13 and 14 :

Many people say that 21* century is a century of knowledge, but the people who think more deeply about it
say, it is going to be a century of mind. If this is the case then India has demographic advantage, India has 55% of its
population less than 25 years old. This means that there are 6000 lakh odd minds to shape destiny of India.

But there is a fundamental difference between the mind and the mindset. Mind represents intellect, mind
allows you to make smart observations, smart analysis, smart synthesis etc. but it is the mindset which determines
your attitude and your approach to life. In India, there is this huge battle between the Indian mind and Indian
mindset. The Indian mind is taking us into 21* century and there is no doubt about it, but it is the Indian mindset
which is drawing us back into 14™, 15" 16™ century.

Centuries ago Indian mind introduced the concept of global village with a slogan, “Vasudhaiv Kutumbakam”
(Entire world is a family). We say that we are one family but are we practising what we say ? We know that when two
Japanese come together, how many Japanese they make ? They form a great team and become eleven. Someone in a
lighter vein has said that when two Indians come together, they become zero as they neutralize each other. They do
not make a team and this is the Indian mindset.

My basic premise is not that shaping of Indian minds is not required and only changing of the Indian mindset
should be attempted. We should start taking up both. We should not only be contented with clever minds, more
intelligent minds, more observant minds, more analytical minds, better minds synthesizing in a more clever way, but
also mindsets that are positive, constructive, forward looking, mutually reinforcing, - mindsets that will make it
possible for us to shape 21* century India.
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13)  Which of the statements given below about todays world is correct ?
1) Itis a clever peoples world. 2) Many feel it is the 'mind'
3) Some say it is the 'knowledge' 4) None of the above.

14)  Which of the following statements is not incorrect ?

1) About 55% of the Indians have modern mindset. 2) About45% of the Indians have old traditional mind.

3) The elderly people are not in majority in India. 4) About 55% of the Indians make intelligent analysis.
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e TR §d AMRGHT ‘1, W0, AT 9 gY@’ UTH gles oMl HUR &b ol 3.
T ARCTTHES ‘=R’ AT QTeTesT feraRYEia Herm T SO 3iTes 3. SRR T, FH 7 S
. I B ST 19 M. AR STl @I, FHAT d Y UTH BRal AVR AT, =R T AT
fardens arcars g2 g, & AN [SHdT & e ~Nfiidy SaTeHTeal SR arcuTd FHEfT gid el o)
el ST ITCURIET AT HROMT SR, FHNIAIS TIIPR! T HRITT ATfEdeR 1T 3g T AR
31T YRI0IE PRIF S SR, T3] AR SicTeRia! A8 37Tg. TRV TSI SUfdid SeehT Hifedear erhidt”
STofta e foa! R, M fAsmdeR fasrr UTH x99 Blew. el =i fiesauarea Hishdd Hifed TR
BIS 3T ARV Tged 37Te. T HIfRcHal AfUBR &1 SHHRIAS TR HaeHT g AMAUSR qoac! JreT
STRET IV ST 3Te.

IfeRuETG dode @ Hifectal JMfUGR Jramel Saedl A6 3ffg. |idU™el 3ss 9 TR IS
Wﬁﬁﬁawmm &g SHife g TR GRUTH BRUTIT Y dTefifdSit STTufd
SO T TNREIST STRIBR 372, 93] H@rﬁﬂsﬂm "R & TFRI T SATehedT TGERT IR T TRER
94)  ATRCTET SIRIPR WISIUD! DIoT JSYT genielt 31t Fefird 37e

a) SfAd T T gah b) oYU 88

¢) N F NYIhH! FaTa=aTT 88 d) Serfors g

TSB! BT G T 3R 7

) (a) () ?) () (b) (c) 3) (a),(d), (0) ) (a), (b), (c), (d)

9€) YIS QM fauTET R @,

a) HIfRCET STfRRTET aXE Jafthaic UTGURTAT id 3TTed.

b) ST AT, T G < T T TG Hifgalt SR a1 F1 Arfea rfiepRman fiesT Reflq e,

TRt I

q) QT SRR R) PR RR AR 3) R (D) TP 8) (b) RIR (a) T
99) Yo faermET faaR .

a) IR =1 QO IR SR & 3.

b) STl T FaTdT TEHF RS T AT ST 18, Aehall.

TRt I
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9) (b) R T (a) T SIS TR R) (b) IR UG (a) T RIS TR TR
3) A T 8) I (a) IR

9¢)  YSIe faumET faem &
a) ARG ATfed =T SIRBR 3Maad & vem Ray & SRy THic 7ed e 1.
b) YRS U ARSI IRAR FEee 38 Dl AHTRID ~IRITATS! ATl TRIR 39T 3R,
qIRft I

q) SR RIS Q) P SRR AR 3) () RER (b)) TH  8) (b) TWER (a) T
R)  WSBHD! HIUAT ARHS TR BleErd TEHFT Bl Hed HUTaR Jd & 2
a) NE T faumHesmey uee foaru. b) TRIATIRIETT TR SRS Y.

¢) TR SHfUPHRIT ATRIGR 2R d A URGEH §9a0l.  d) ATHDIT HRARIARIT STV 2ot

TRl S

q) (a) 3T (c) R) (b) 3 (c) 3) () 31O (d) 8) (b) 3T (d)

Question number 15to 19 :

Preamble to constitution of India starts with > We the people..” It does not refer to people of any particular
caste or religion, which signifies that the constitution of India places its people at the highest position in democracy.
When people of India elect our government, we also have a complete right to get aware of all its aspects and
governance. Such awareness gives a chance to actually participate in the process of governance which in turn
advances the democracy from being merely representative to become participative. Success of democracy largely
depends on participation of its population in making and implementation of government policy. Where common
people are not able to actively participate in the process of governance, possibility of protection of rights of select
empowered class increases manyfold. This holds the potential of eventually becoming a major obstacle in the path
of Social Justice.

The efforts of creation of knowledge based societies of ‘Informed citizenry’ are ongoing in various parts of
the world. India too, has joined the bandwagon by accepting the Right to Information. ‘Informed citizenry’ term
appears in the RTT Act. Various courts in India have reported that Right to Information is inherent to Freedom of
Speech and Expression provided in article 19(1)(a) of constitution of India. Additionally United Nations Organizations
stated in its Universal Declaration that Right to Information is fundamental to human rights.

In the light of this, Right to Information can play a pivotal role in the process of protection and establishment
of social justice. Preamble to constitution of India has resolved for “Justice, Freedom, Equality and Fraternity” to all
its citizens. Deliberately the word ‘justice’ is placed first in the order. Justice is fundamental, in absence of it, freedom,
equality and fraternity cannot be achieved. Absence of justice leads to social inequality. This inequality stems not
only out of unequal distribution of natural resources but also out of unequal distribution of information. Ruling class
controls information to maintain its hegemony over power and resources. Indian history has witnessed this time and
again. Social inequality can be won over by making the socially oppressed classes aware of ‘power of Information’
and therefore Right to Information is extremely crucial in the process of achieving justice. It is for this reason that
Right to Information has become a matter of utmost interest for numerous civil society organizations and human
rights movements.

Right to Information and Environmental movement are also closely connected. Article 21 of the constitution
provides Right to Life and Liberty. In another a words, citizen have a right to know everything that has impact on life
and liberty. The same was also reiterated in the earth summit of Rio de Janerio, Brazil held in 1992. This also “being
the core principle of environmental movement, they have keenly promoted Right to Information.

15)  Right to Information is more related to which of the following fundamental rights :

a) Right to Life and Liberty b) Right against exploitation

¢) Right to freedom of speech and expression d) Right to Education

Which of the option given below is correct ?

D @) 2) (@ (b)(c) 3) (@), (d), (©) 4) (), (b), (¢), (d)

16)  Consider the following two statements :
a) Right to information is being pursued by individuals all over.
b) Various societies, movements and countries well informed or otherwise are following right to information.
Answer options :
1) Both are correct 2) Neither is correct 3) (a) is correct (b) is not 4) (b) is correct (a) is not
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17)  Consider the following statements :

a) Non dissemination of the information is a root cause of social inequality.

b) When the participation in the governance is not all round social unjustic could prevail.

Answer options :

1) (b) is correct and (a) is the correct explanation of (b)

2) (b) is correct but (a) is not the correct explanation of (b)

3) Both (a) and (b) are incorrect. 4)(b) is incorrect (a) is correct
18)  Consider the following statements :

a) "Citizenry has right to know" was for the first time said in the summit at Rio-deJanerio.

b) Many courts in India have reiterated that dissemination of information is an absolute must for attaining

social justice. Now state whether.

Answer options.

1) Both are correct 2) Neither is correct 3) (a) is correct (b) isnot  4) (b) is correct (a) is not
19)  Which of the following indicates the transformation of representative democracy into participatory democracy?

a) By asking questions in parliaments and state legislature

b) By launching complaints against administration.

¢) Using RTT act to make government and administration transparent.

d) Getting knowledge of functioning of governance.

Answer options :

1) (a)and (c) 2) (b) and (c) 3)(c) and (d) 4) (b) and (d)

TR THHIDH 0 A N :

%% 9 BT HEATIRET WA 3M1fiep fAepRATe AR dTg SHTes. ATl SR PIRUT FgUTSt il et are aoT,
SRR ISST SARMERT ATReIS, AT S 16 gt gy erarrar anfor forfRr sreaoht, smarch g
31T Aifegye srRieraverdt ussie ¢ STeracd I URYN Heqd A00ARN SHRUTT 2. IT e Heherqy I’
AugTaT AR HIGUIRITS! 3T sifareft fdert wforan Fifeaa awxuarrdt sienfiies, @mR snfor Ardsie &1 ol
e YRUHD IS5 PO AP gll.  TARNBRUMIATS UTefes SISV TRoTT Bl SR 3riidherciies fair
30T AT, WIS I PHH! Bis Ahas. A FURUIT A ST g 8l ! ST ATU-RURI ared Aoy
Tt foyoer Tfeha & aeTRUCTAT BRIGATIAR gl

3T FURITFCRET DI QEDbleM HMfieh [T JeHid Bk HIST ATATETS FHIU ST 3R, AT
SF Supmed WRA g Haid dMe IRGTd g, STl Gal d IRT QuAeis U . Piel Agaredl S
STRIARENT T T AT PIesTciies BITAIRT BT BUIRIRIT Blcft. 9819 T 003 HE HIFAIE X HeHT BIdl. Fa]
anfor ggrea Mfdfes AeTear ek IS Tdedld gadid!, W TWedld UGS Ahsarnt 3.9% a7
¢.R% R NS Il AT PiosTel WP Wi [AdU[D, aree! aldl. 0T I Je TSt HHI ST gldll. AT
TR T Jaaues, WReeft IS |Gt AT aedtd! BT RS 2.

NI IR FEUIT V55 bl R 3rfedweT Mol IR auid a 70N ¢ % o 1% XM dled 37Te. 3a¥
3% TChrd! BHART TSRS SR T 90 Tg 3Me M.

R0) AR 3MTRIe FURI Hg STUUIR SIATIGR SRAce WIe3 /e Beehiueh! aTaTeed PIv ?

9) TRATE ?) fafdid ge 3) 3iENfiies d1e SXId € ¥) NI Tba! ATar
%)  WSIBUD! PIUAT T NS Tehrd IR IR auie dhesod AATar ?
q) YerrET gRaaT B)RICEI 3) ATRET AReE  8) AT WHI JavDp

Q) HRATNS 9389 T MMffeh FLrRuIE Hafd At ISt Ut ...

q) QAT &R YT AR Q) JMYFHIFROMER IR TE.

3) amara it adiar &) Bt o ) eies Tepgt el

Question number 20 to 22 :

In India, economic reforms were initiated in mid 1991 due to problems such as increasing external debt,
unmanageable balance of payments situation, high possibility of acceleration the rate of inflation and the fiscal
problems. External factors like Gulf war and collapse of soviet economy also contributed to the crisis. With a view to
tide over the economic crisis and ensuring sustainability of growth process, it was considered necessary to introduce
certain major policy reforms, on industrial trade and public sector fronts. Measures for stabilization aiming at
reduction in fiscal and current account deficit in budget were also necessary. The economic reforms basically aimed
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at allocation of resources and decision - making to be guided by the market mechanism.

In the post reforms period, there has been a lot of optimism regarding long-term economic growth. In the last
two decades, India was among ten to twelve highest growing countries in the world. Some macroeconomic variables
performed well during this period. Rate of inflation declined during 1997-2002. Gross domestic savings as a % of GDP
increased from 23.1% to 28.2% during 9" and the 10™ plan. Gross domestic investment increased and fiscal deficit
declined marginally during this period. EDI inflow, FOREX reserves showed promising trends.

In conclusion, the economy seems to be on a high growth path of 8% to 9% in the last 4 years. The
performance of the other variables also seems to be relatively satisfactory.

20)  Which of the following is an external factor leading to economic reforms in India ?

1) Inflation 2) Fall in exports

3) Showdown of industrial growth rate 4) None of the above
21)  Which of the following is a macro economic variable, not described in this paragraph ?

1) Money supply 2) Inflation 3) Balance of Payments  4) Foreign Direct Investment
22)  Major limitation of economic reforms of 1991 has been :

1) Rate of growth is not adequately high 2) No stress on modernisation

3) Slow growth rate of exports and imports. 4) None of the above

UL HHIH 3 T 0 :

gy sy omoft afr aRcht i sraey ST e e, @R aveaT SifETaT Tee g 31fr aicfies Ssora
T IRUMH g I SUTTT SUTAR SATeb. 3191 SUFT SHaTed SU FgUIATd. g S8 JaR gvamard! sermaefl aufar
IO STTAT BRI, TgUE STaTed ST 10 Fifed 3Ted. Te aredl I IR STaeaehdl ST TRy SIS

3TTE.

Sftaren SU TR, G SMUT A 379 o STavTa Jedtea Uierd Aued. JTd Hledl, WSl e AT
afiies R AT FHAL BT, T STaTed SUATT BIgIpIeTa S AU, ATRIERT SaRal S8 AT IS
IAERIT TIRAL. IST. BS, AT M, BIhel Pl I,

WIS U g0 BIGSHICT ITIRST STl BIpSHIcITT IR SiTles T8 e JRIT JATaRyT Yiad
31TeS 3T, 2 Rl a1 ore. geefiea ulerd &R Hiex SaaI Wios WSt o ATISd. TR Ugis fS81e, RIRi
31T S49T A% @ T fAiesaar Aar.

Fafies 9 g AR Sifced AR 8 $UF M. O Baa Uc o ST I PIvIdTe! T uared
forgen Ted ATEl. Rar e AN T3GR T FISER $H01 Heol | Aa 3R, T Ul =9fies JrRen
SASGATER I Saar Ad. e, 399, WU, e 3t SNl arjd YR TR

Sttared MfT SR SUAT A1 & TS ATedt. FeUTd Piesdl, e AT URUNGD fohdT SFdnRufia St |
TZUIATd, PRUT o e §9adT Ad ATeld.

SIS TS 3Te. T TR DRVT g0 dTee ! BIeeee M1 aTedd IemTes. T SRIORT ated St Fed
fHior exar A0 HANT 3R, ITATS! THIHRUNRT Sooll AITAT ATOR PROITY AT MY, 8 Prodret IReT 3T, 37T
IR T ARSoTT ATIRTER B&T o PxUr AARD IATR.

23) P SUA FId Faid 31 et Rig ol 38 ?

9) BIpS BT R) U% d R, 3) 37U el ) ST e St
W) oI HIC ... GINS
a) AHTNTD TR b) AT FHRIT ¢) 3MMffep FHI==T d) TafaRufiT qa==m
e) it qoRfY ) STHATfCrep Tt BIESRRIRECSI
TRIGUDT PIUTT fIUT aRIeR AT ?
) (a) R) (b) 3) (o) 8) ()
RY) PV IRURS ol AN AME IORRIS! Feol S 3.
9) Pl Q) Gt d 3) fifep ARy ¥) SR
E) ol Hobe AHDIRD g BT TTeves 3MMR. NI HMaR R SThaaT gl ?
a) "fifes aTgER PHROT A GSHA IR Il b) T AT JUTRAT AAihs B& TG &d.
¢) 3MUT AR FHetaR R SGIN gal. d) 3T T I Qe PIees TR
TRt ST
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1) (a) _ R) )T (0) 3) (@, ()T (0) 8) (b) T (d)
) 3TV FGA:B Holl HHCIT P S AF ?

a) I ATGUIAT 3T T IRGT b) 31RrepIfEie Fdfleufia Barar Sy
¢) 3itenfiiexurar 9 HH} B d) 3T o g It TR e
TR S

9) (@) 9 (b) ) @)T (c) 3) ©d(d) 8) (a)d (d)

Question number 23 to 27 :

A long time ago remnants of plants and animals got buried into the earth. Due to the effect of the tremendous
pressure of the layers of earth above and the heat inside they were converted into fuel. Such fuels are called fossil
fuels. It takes lakhs of years for such fuels to be formed. That is why the deposits of fossil fuel are limited. As a result, a
need has now arisen to make prudent use of these resources.

Fossil fuels are found in three forms solid, liquid and gaseous - in the bowels of the earth. These fuels include
coal, mineral oil and natural gas All fossil fuels contain hydrocarbon compounds. Besides these, we daily use other
fuels too, for example, wood, charcoal, cowdung, pats, etc.

Firewood and brushwood are used as fuel d as fuel in rural areas. Itis a matter of concern that the use of wood for
fuel is causing destruction of forests and has endangered the environment. Mineral oil is found may thousand metres
deep in the bowels of the earth. Petrol, diesel, kerosene and fuel oil can be obtained from it.

Natural gas is a very convenient fuel to use. It lights up quickly and does not leave behind any solid substances.
Besides, it is easy to transport from its main sources by moans of pipes. A big advantage is that the burning of natural
gas can be easily controlled. Methane, ethane, propane, butane etc. are the various types of natural gas.

The deposits of fossil and other fuels are limited. That is why, coal, oil etc. are said to be conventional or non-
renewable sources of energy - they cannot be produced anew,

Even though we are now using renewable sources of energy like wind energy, hydro-electric energy, biogas,
biodiesel, etc. we are still in the grip of an energy crisis. The main reason for this is the growing population and increasing
industrialisation. It is difficult to continuously produce the increasing amounts of energy they need. To find ways of
using renewable sources is the need of the hour. In view of this, we must concentrate on the use of solar energy.

23)  Which energy source has proved to be the most destructive ?

1) Fuel wood 2) Oil and gas 3) Atomic energy 4) Hydro energy
24)  Energy crisisisnota:

a) Social problem b) manmade problem ¢) economic problem

d) environmental problem e) gift of nature f) global problem

Select the correct option :

D (a) 2)(b) 3)(e) 4)(®)
25)  Which conventional source of energy is most man friendly ?

1) Coal 2) Mineral Oil 3) Natural gas 4) Biogas

26)  The problem of energy is becoming increasingly acute. What should we resort to ?
a) Natural gas as it can be conveniently used.
b) We must pay more attention to renewable source of energy.

¢) We should lay stress on solar energy d) We should find new sources of energy.
Answer options :
D () 2)(b)d(c) 3) (a), (b) and (¢) 4) (b) and (d)

27)  How should we extricate ourselves of the energy crises ?

a) by containing our teeming millions

b) by finding ways of using more renewable sources of energy .

c¢) by slowing the pace of industrialisation. d) by importing more of oil and gas.

1) (a) and (b) 2) (a) and (c) 3) (¢) and (d) 4) (a) and (d)

T HHIH ¢ A 32 :

SIS &1 SATIeh HpedT 3TTe. ATTE U STATHE JATaeAD o 950 P HIFd! edTuNep IR T
oS, aRIcTd SHES, SR e ST STl fenfRid SUaTITe! Taead af s T8q ST SiTdl.
JRATS ATIRTATT AVTRT MYfep gegehimedt veft T It Haeh mfor S rftyifeht ar Mear wmaer gidl. §d
IEHITRT Stafafauar fvge A doe ARITAR 3™ BIvel aF Sae Sifde gfhar, Sfa fhar st
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I gt e S2IRATSt IR AT ATeT Stady 3 U] Ish.” Tguroid SITHE) W SiiqerReraT fafaer
U Yosar arR Siegt fafder Ieare Fificdia giar srem SRRy Staca e 3T TurdTd.

SRS BHrer T et IR Eﬁ?ﬁ SR SRS, Jgeviiaens, aofitefic wae, Justiaens,
@\awraﬁew T, et freT T e SiaTETaTeie e A0 IR SR, @Tﬁiﬁiﬂﬁ'&ﬁ_ﬁ
WCIHIIECH?IIH SSE! \flqﬂ’)l‘-ll"Icl?IN‘Ji mﬁmumlsl ‘H‘-IIGI%I Eﬁ?ﬁ

MY STALTETT ST Hehed=T a1 Siaaaare FuRid s fafdy ugdt g 73 amaR smuReSen
SRACT T T Hd AT Thquul ' Siiaemeiy ST’ SR AR < I5e.

SIS g HANTITGT Phoses AT J fIepTy IR SMUReS MM S Siawifec el MUR Jeaateid
ST A&, QY I, Al T SHaTIRET el (T S Afbifehiear AremTy I Mg, axics JepRe
ST M, e, e g ffifd @ fgoe o o og. € SaTe Qmead Jeiedl JMUR ardser
TR SHfege AGHTT g8 TRATUT x0T M9 TR, (TERT T SRR FeRiakies driefiR JeT)

) Yelo [y faaR .

a) Sladasi difed T g8 URRATUT PRUIRY RS TR

b) StacsiHET 3refarReneft el e g,

Rl I

9) SR RIR R) qe TP 3) @RRIMTD  8) (b) R T (a) D
R) s CEAERIGICIICE R

a) \J1°|C1‘)I$|I"1ICI Stier a1 AT SFeTrET HHT "IE‘-II SISEIE) 31?}['_‘1'@

gﬁ‘:ﬁw T: G d PIET YA ST fIeT Qg Aeefifoser s,

9) A WK R) Al TP 3) (@ RRF (b) D 8) (b) SRIR T (a) Th
30) ﬁaaaawﬁ aifcr IfeE PRI 37TR ?

9) T3 AT Q) YD GG /THPR ~ 3) Ugilcllos GUR 8 AT FHU /H
39) 1T AR W HHeH] WIBIGUD! DIOTT 3718 ?

9) e SRS 3Maedes o 95 .

Q) TN TFT M B0 AT Sitferd 31feres g glctes

3) YV (AT ST HURR HRO! 8) FISUDT PIoThEr TTet
32) WIoie QU foaR @,

a) SIS T4 Siifad HT0HEY TIBUIRY Ueb =1fiTes Tfeha 3Te.

b) SIIdFSTHICIS STGH X Jo8T UL STATT g =T [Tl AT g 9gehdT Fvid.

Rl I

) S SRR R) A IP 3) (2) RR T (b) T 8) (b) SRR T () I

Question number 28 to 32 :

The concept of biotechnology is a wide concept encompassing procedures modifying living organisms as per
necessity for the welfare of human beings. The living organisms are modified by various technical procedures for
number of human requirements being such as domestication of animals, cultivation of plants and improving plant variety
through various breeding practices. Modern technologies used for the purpose include techniques like cell, tissue
culture and genetic engineering. The United Nations convention of Biological diversity defines ‘biotechnology’ as : Any
technological application that uses biological systems, living organism or derivatives thereof to make or modify products
or processes for specific use. In other words, “biotechnology can be defined as the application of technical advances
in life sciences to develop various products.

Biotechnology also involves pure biological scientific disciplines such as genetics, microbiology animal cell
culture, molecular biology, biochemistry, embryology, cell biology and those outside the sphere of biology which include
chemical engineering, bioprocess engineering, bio informatics and biorobotics.

Conversely, modern biological sciences are intimately entwined and dependent on the methods developed
through biotechnology and therefore all these together constitute the life sciences industry. Biotechnology is
research and development in the laboratory using bioinformatics for exploration, extraction, exploitation and production
from any living organism and any source of biomass by means of biological engineering where high value added
products could be planned, forecasted, formulated, developed, manufactured and marketed. These products should
be used on sustainable basis and patent rights thereof must be obtained, (legal protection at national and international
level)
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28)  Consider the following statements :

a) Biotechnology is basically used for obtaining patents.

b) Biotechnology has nothing to do with economics.

Answer options :

1) Both are right 2) Both are wrong 3) (a) is correct (b) is not 4) (b) is correct (a) is not
29)  Consider the following two statements :

a) Biotechnology does not necessarily always involve organisims or parts thereof :

b) Biotechnology basically involves both pure and marginally applied science.

Answer options :

1) Both are correct 2) Both are incorrect  3) (a) is correct (b) is not 4) (b) is correct (a) is not
30)  What is the ultimate objective of Biotechnology ?

1) Technological achievement 2) Engineering marvel

3) Procedural improvement 4) Human satisfaction

31)  What is the central theme of biotechnology ?
1) Modifying living organisms for their survival.
2) To invent new techniques for making living organisms stronger.
3) To convert basic science into technologies. 4) None of the above.
32)  Consider the following statements :
a) Biotechnology is a natural Biological process occurring in all the living organisms.
b) Biotechnoloical product many a time is an accidental product and doesn't have to be necessarily
designed.
Answer options :
1) Both are correct 2) Both are incorrect  3) (a) is correct (b) is not  4) (b) is correct (a) is not.

e HHID 33 I 3

I WS AAWS IS @rd! Fffd T HRAd 9 3R WSTeRIER T3/ T gRao!
FRAT. STIBING PTal STHIN TIfEe! SR SUUIRT 3R] SR Y ) 9d JepRaT UTSTITal  Hugid 1@y I
T 9T Bl 37e. A g A AT Fe HIAT FHUICR WA -HAIHE) P 37Ted. g o Foardiean comed
SITfRTSI AT AfhIaRT Saeed SR, & Ufsha T SedmaR < Yol TS god! STTaeehal =i, & Hfshan
qufO TR TR STT2. AT ke PUIE! BHGTE J/A 21 a1, FOSTR! AT g AT, H1eAT LK,
pERIUCT FTRId, TRl HESH RN, PhHH HBHdTR U T1al, i UIvar UM AT 8N, TR GRYST A8l AT
I RN, IBcUEl STSHE SR J9od A1de! d Aol g1 I1 e 21 [SPhTuidr ST Feaire! b 30
e U BT STl GeredT Proraeiiqed Torerd ATIRUG: o g AeeR Aie-Td USMaTaieT, Hoid 3aey
g 3R HII Wd-HTdld DUTR 810grt ufeham Beft 9eg fiadht Sioe o=

FHAIS! T WIS el SIS Wit Tare] U e Ui SrauT qiR 8k @ arvacd el JeiHTthd
ARG AT TEET GREAST I SATcll, TG & J HISHT ST e A Saald. Ve [SpIumeries Arie
THITRIRET THT0T ST 3RTeh ORI T fSehTuNTeRics a-achiAT 3T UGTITET 1 HHIUd GREsT gldl. 9ICiIe, Hivhe d
SR @ieT eTef 31T AT Uehal Shobt ST d IRKe YaTRIgR O a-ROdaT YHToid digrfde ST, dear i
SYINT TeheR FIU T ATGIATST il fopall & STfTaRcl TTcTaTe e Tea IaRauTdl ST BT g caram ST @l —
Tcfren PRI sasad SRBST Uh Ted TeUT BeT STTl. 8l Wd -1l Iral aIeud e aerTs! aTiRe! S,
e foRg UTRAT AT ~1RAffiep Qi QI U STTEe. ARSIl 2MMesed f+ToT Uarel el epT fSepTuMarRET Sl
fepToft foRRe SR @ IAFHYT Fa—Tdi= @it ugTel B AT Wi oT=aT TR AR a1e 2.

33)  URTSSER I @IS P fHesdid ?

a) UTTATATGIT b) UTUYTAT JEAYIGT  ¢) Pdeh d Mg d) A
gIRft I :
9) (a)d (b) ) @T(d) 3) &b (d) 8) B (c)

38) @O [T fdaR @,
a) ITE TR B0 Hfsha argsitet g foFargsidt sRid.
b) o T TfhAT FATGUIRY TRI 3R AT
IR I
9) =t ™ RIS ?) Al fau™ 9@ 3) @QRRR (b)TD  ¥) (b) IR T (a) T
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34)  WSBID! DI U ghia 3 ?
a) I7RE TfshaT FARER TTes 31T, b) UTERATGAT T STcrerT offer 1Al

C)Eﬁ ?i@, BTG, YRISIGRD d SUHIhT AT d) HTFGHET g¥<1&y JTd T9d]

IR I

q) (a) ?) (© 3) (d) 8) TS PIURIE! el
3%) @Wﬂ?ﬁﬁ‘ﬂﬁw

a) UICY T ThIRWC SR fSePIVIET AU ST, b) T ST paes @ fffeie gl

JITT AT =

q) qre! U™ SRR Q) Qe faum g 3) (@ RRR (b)TP ) (b) RIS T (a) TP

Question number 33 to 36 :

The forests manures itself. It makes its own humus and supplies itself with minerals. If we see a plece
of woodland we find a gentle accumulation of mixed vegetable and animal residues constantly taking place on
the ground and that these wastes are being converted by fungi and bacteria into humus. The process involved
in the early stages of this transformation depends throughout on oxidation : afterwards it lakes place in the absence
of air. The process is entirely sanitary. There is no nuisance of any kind - no smell, no flies, no dustbins, no
incinerators, no artificial sewage system, no water - borne diseases, no (own councils, and no rats. On the contrary,
the forest affords a place for the ideal summer holiday with sufficient shade and an abundance of pure fresh
air. All over the surface of the woods the conversion of vegetable and animal wastes into humus is never so
rapid as during the holiday months - July to September. The mineral matter needed by the trees and the undergrowth
is obtained from the subsoil, This is collected in dilute solution in water by the deeper roots, which also help
in anchoring the trees. Even in soils markedly deficient in phosphorus, trees have no difficulty in obtaining ample
supplies of this element. Potash, phosphate, and other minerals are always collected in situ and carried by the
transpiration current for use in the green leaves. Afterwards they are either used in growth or deposited on the
floor of the forest in the form of vegetable waste being one of the constituents needed in the synthesis of humus.
This humus is again utilized by the roots of the trees. Nature’s farming, as seen in the forest, is characterized
by two things, a constant circulation of the mineral matter absorbed by the trees and a constant addition of new
mineral matter from the vast reserves held in the subsoil.

33)  What is the true source of minerals in the forests as per the passage ?

a) Vegetable residues b) Animal wastes ¢) Fungi and bacteria ~ d) Subsoils
Answer options :
1) (a) and (b) 2) (a) and (d) 3) only (d) 4) only (c)

34)  Consider the following statements :

a) Forest manuring is both aerobic and anaerobic.

b) Forest manuring is not hastle free.

Answer options :

1) Both are correct 2) Both are incorrect  3) (a) is correct (b) is not 4) (b) is correct (a) is not
35)  Which of the following statements is incorrect ?

a) Natural forest manuring goes on round the clock.

b) It is quicker during monsoons.

¢) Forest acts therein as manufacturer, distributor and consumer.

d) Man's interference therein is absent

Answer options :

1) (a) 2) (c) 3) (d) 4) none of the above
36)  Consider the following statements :

a) Potash and phosphate are brought from elsewhere

b) They are used only in the formation of humus.

Now state whether

1) Both are correct 2) Both are incorrect 3) (a) is correct (b) is not  4) (b) is correct (a) is not

T HHIP 39 T ¥9 :
FETHN 8 SMRATCHIes AIS U 31T, UTdY HaeiieR HIT ot TRTGHUUI it 31fereh ALTh d G& Rdl. PIUTral

TR AIg Prevard &dT RreaTd 312, HORIS HOR FEUN TSR Hed 8l &l Sls T e Mg, Fd)
FIHTATCHS TSIV AT A6 3T Jea aid SITdl. < guiuut JHTeR aefesas e afre. F:wameffoon g fraff

MPSC IISIRIaT gd URI&T : 2093 g Wi dR-2 / 9%




HTeT FgUIoTd W 81, STegl STTIUT URTENeST EIgHcl GRAfl TIegl TTUvT =31 el S 3adl. Fud
STYUT AT AT R, TeST PoUT SRATIT, RATST Jeh el ARTIHKITRIET U 3RY Sehdl ATl TRid TRTg iR
Hiedls 3R e TE). TR FEgT g SHRUUTCHEIS Sg! STofdT Ufd _ad. QUITRITST d Sur=ITeT
QTS T e fHese. SUITITeST ATes ey JRaral, AardT g9d o1 Ial. TR BRI I RSN d
SHeRYT FHfor 8195 df ¢ &id S,

ATl e UH 0T RURT FECIaT darfeid SERT SDIui HTeT 3R4e. PBORIe DR HIASEIS
AT THTATIRET 3A(5H J1E el ATET. Aehieal SIRTUET FErgciEe HIUR SATSIUIeH HRUART TR gal. Sared]
AR T ohl TSIy SR SRS TATaRd! bl §dR STeqrdl, Ul WA AoRdl Y9G ug erehdl. i
WW@HWWWW e RO ST theh fR¥epR 9 faRiemr fivesal.

AR08 AIaIes] 218 TTH &Idl. TRl Faurord U, YHTel HIaT 2131, Aesd qaoed d Gl aehiHl
STIUT HE o AT, T =T, TSN 9 §:% 3Rie fi— e vy Fergiciige e SRaHieR Has Ty,
Sepcll, T AT PHT o bl ST Tl fohaT QMTepTell G2 VMY Shieal FHId ER o JIgardt. dl
ThS GHal P el ATal. AR @ IR AT SIS 3 dTse AIoRid! AYEIT ATedl JTad. T il
3mRPT, Foe T HraTes TEHART 3R, Ihal ST 3/ fhal TRMEIe il v aRfRI
IR, SIS AR B -JoNHE SR FEIIHed ¢ T 950, ADo.
39) TS RALET HRAVET AR ST JIRT B DT DRT —

a) A TQATST T8 PRUATE & DaTieTd TR ST PIUAT HIAHE] 3R,

b) STEIcT PO T P Tat T ¥ 1R &R0 31T,

) Uh TSI DHSS 9T R fcsfauamme) et A

d) FEIHTT SIS d U UM BIch {265, erepdTd.

TR IR

1) (a) ST (b) R) (a) 3T (d) 3) (2) ST () 8) & 7
3¢) TR & SIS HIS U T 37T ?

a) PRYT ATRETT SR SKTOT TR TR b) ST 2TTCdT RRATTIT SARUTT § T ATe 3TTe.

¢) TSl Sipiavcl 5T PR ATS AT Bl d) TSN TRl SRATICIR ST Blehrait 77 o7 <repcll.

TR I

1) (a) R) (b) 3T (c) 3) (d) 8) (a) AT (d)
R)  FETLNGT AT BRI (S amefials) 3Ry 1 Fees oMg ?
q) PR SUITST IS ST e e Q) PR T SUITITHE FETTHLIT SR are.
3) PRU YUIRT & OM=aTaT 3nefiafe <ar. ) GRIUh! PV gl
go) RIS ATVT SHITHED Tehall AT Al BHRUT:
a) SR e Hiet aTe. b) SHITET el &1 S ie BIheheIonal T T 3MTE.

¢) WEHTE T T Fafd Il AT g AR B 3.

d) SYHT T AT TTAS] ATITAT FETFI & HIGT Teha dierd.

TRl I

%) () R) (@), (b) 3T (c) 3) (b) 3TN (c) 8) TN wd
$9) ST Plal aT3c ULl Aleld HeTedT BRI —

a) TR BIPIT &1 HeT PRI

b) PTE St—JONIHT IT ATEE UL T BRUTAT SIhredT ST o351 3 UTfeas.

c) PRl Blbral BIhDATUHE fI9aRT SRTaT.

d) AR @ =R A1 ] NSRS AT HerT AISK Feriles ST gt Siurn fear g,

Rl I

q) (@) R) (b) 3) (b) 3T (c) 8) (b) ST (d)

Question number 37 to 41 :

Sympathy is a great secret of life. It overcomes evil, and strengthens good. It disarms resistance, melts the
hardest heart, and develops the better part of human nature. It is founded on love. It is but another word for
disinterestedness and affection. When we have sympathy for any one we see ourselves in his place and therefore we
help him; we relieve him. There can be no love without sympathy. Like mercy, sympathy and benevolence are twice
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blessed, blessing both the giver and the receiver. While they bring forth an abundant fruit of happiness in the heart
of the giver, they enhance kindness and benevolence in the heart of the receiver.

Hardly can there be any other attitude generating love in the human heart. Even hardest of the hard core
persons cannot remain aloof of its influence. It enforces much more than force can. A kind word, or a kind look, can do
wonders on those upon whom coercion has been tried in vein. While sympathy invites love and obedience, harshness
provokes aversion and resistance.

Sympathy glorifies humanity. It is synonym of love. It enables us to help the sorrow -stricken and the
oppressed. Wherever there is cruelty, or ignorance, or misery, sympathy consoles and alleviates. The sight of grief, the
sound of a groan, hold a sympathetic mind. Sympathy and justice have eradicated very many evil practices of the
world, be they abolition of slavery in America, England and France, the uneducatedness and ignorance of the people
or the backwardness at the lowly people. The sympathy that the great people had, could only bring in the improvement
for all these.

37)  Autocrats will be able to rule more successfully with the help of sympathy than with cruelty because :

a) Sympathy has the capacity to touch one's heart more than anything.

b) Their don't care policy is not a correct policy.

¢) A kind word goes a long way in establishing control.

d) Sympathy brings in love and obedience.

Answer options :

1) (a) and (b) 2) (a) and (d) 3) (a) and (c) 4) all the above

38)  Why is sympathy one of the great secrets of life ?
a) Because life is not possible without it. b) It is the best way to establish world peace.
c¢) It is possible to rule over ignorant people with it.  d) Alittle show of sympathy can win over people.
D (a) 2) (b) and (c) 3)(d) 4) (a) and (d)

39)  Why is sympathy a twice blessing :
1) Because it gives to the giver extra fruits. 2) Because it creats double sympathy in the giver.
3) Because the receiver blesses the giver. 4) None of the above.

40)  Sympathy can help in uniting the world because :
a) the scope of sympathy is wide. b) unity of the world is a part of public philanthropy..

¢) it endeavours to alleviate all without discrimination.

d) it unites us in a bond of peace and brotherhood.

Answer options :

1) (a) 2) (a), (b) and (c) 3) (b) and (c) 4) All the above
41)  Some of the world's evil practice were eradicated due to :

a) the capacity of some people to understand the problem.

b) some men and women put themselves in the place of those who were at the receiving end of the practice.

¢) some people believed in public philanthropy.

d) some people believed sympathy and justice were the answer to the problem

Answer options :

1) (a) 2) (b) 3) (b) and (c) 4) (b) and (d)

T I ¥ T 8Y :

AHTSITETST, ATAGTeTNETST, dael AT YHeRAT SV & o I7 AhedraT 31ef 3 Beivg Higdrd.
AT AU AT 4 Tg0ISt S/, O el HIGId A fehall of 3Teeh Qreqicl sl STebd Tfe STTel
SIS =Aall. e ST A1 ST JRAdT. Tt s JMdeT gt ATat, <t ST 3iTe. A7 St Fasg! amgur
Peses! AR, AT ST STICITAT DT SRAT 2 HRAT STedll ? TR Al STedl ARG, AT, SEFUUTIR 1
gmieft, @1 efclies faeft-Suarisft, Fonieh ve Stacies fFmior 2. a1 Srafosebiqg o o gid. a1 JeT, Stafosdhid
PO JRIATAAT dTed. H3cATe! MEFE He TSTIMN A I SHK, A GOl FATd, FE, FReR
31T, T AAITATS! e el SURERS SR, el H1al Jraes f=afor g1 Are. freammt Fifeada farufsan
3. YHIIRT TR BIUATRIE! farRufsrar srad. off siordt 2

3T Hadresed ORI GEi e SRIoT HIURITST A1 3%, Ta™ 1 eI 316 T B, O
MYUIT FTBTE! AT T ST FISH! 3R — FA J3 SIFHTHT YT AU AFGes] 33, fercreprer purredt
I Ol HHAEN SGMA 3G, 3TU® SV &UTHTR 3MTg, 312MMead 3N, WIads! 312, PIBag 3, A Svfia
ST ST SRS, ATIIR! T FEAST STa-IIaTg AT 3RGS, 3, Teh, BISBIHIes ST AM1ead Mg ATt Wies STvfia
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THT HTT RSB, ST QT —URH= AT MY, 27 HFe! Sar &R & 30 UTfeel, g8) ATl SIurde
SRS, AT AT R IR ST ot A7 Qg TRoT SR, T frpTet ST AT unfeor. emeies fagamard
184, S IR 1S Dl 7T ot FIST A0S BRIVEU . J@T EIAR W SR 31eft emdes e fasar
I FRUSTE O, Y ST IR ATURI ATE, T R PIBHY JURU BT, RTes YHical YR o,
a1 erf-uer fmior gior e a7

¥) YT YT HATHRIFT T SRT ?

37) G ST 3T q) YHTe HIURITET RIET aTed.

P) YT AT HIORITAT AT eMieEs U9 Pl axd. ) e fAReR 3.

IRt I :

q) (3r) 3nfor () R) (@) 3nfor (s) 3) (@) 3mfor () 8) () 3Mor (s)

¥3) Y HIURATST BRIVAU BRel 3R Pl g ol ?
3T) HROT AV GHiaR 8T Saar ofor € Fera @t Sriveur avd.

) Y HIURT BT dTosd. P) PRUT &H YTes0] FgUMST LT 9T 301 3R
$) PR &Y & 9T 3R,

IR ST

q) () 3T () Q) Heh (3) 3) (31) anfor (@) 8) (31), () 3nfor (%)

8%8) AT ST ATORATET THAT &1 A 2
37) BRI 3MYS SHIOY AT 372 § TSN bosel.  §) DRUT MYS SHIOT WL 3R & ST hovel.
%) BRU MM JI F90f GREsh AFuR T8 g T Hove.
) PRUT SATO! HEfiARt HHOMRE 9T TG STIT TRt 3refqut b TfEst © HIURATST Bescl.
TR S
9) (31) 3nfr (@) R) (@) anfor () 3) (30),(3) o (&)  ©) (), () 3for ()
$Y)  AIAHRT HIURITST &H TS hIRI o T ATl -RAd ?
37) BRU g’ T bS] 3P Bl AN, ) RO U T T I U FPRSBI SR
D) YHTIT TS A A,
) U U BRI o STV HUATET STEERT T hesasl AR,
TR S
9) (9) AT () 2) (31) for () 3) (&), (9) 3 (b)  ©) (31), () 30fr ()

Question number 46 to 48 :

Is India becoming a proponent of apartheid? Not apartheid based on race, but on gender? The recent
proposal to create special banks which will cater only to women customers has created a controversy. While the
'women's bank' has been widely hailed by many as a socially progressive idea in that most women would feel more
comfortable dealing with other women in a women-only situation, there are dissenting voices which say that such
proposals, well-meant though they are, will serve to further ghettoise women in an already oppressively male-
centric scheme of things.

Proponents of this point of view argue that what is needed is not to co-coon women in protective environments
specially reserved for them-be they in the form of 'ladies' coaches in trains or in the Metro, or 'pink' auto-rickshaws meant
only for women passengers-but to enable them to share common public spaces and services with their male counterparts
without fearing for their safety.

"Women's only' banks, and similar facilities, isolate women from the social mainstream. Such discrimination,
as well-intentioned as it undoubtedly is, constitutes a form of apartheid based not on race or skin colour but on
gender. As best, it is like the 'equal but separate' policy that some southern American states followed, whereby
'coloured' and white people had segregated schools and separate seats on public transport.

In effect, this is another way of saying that the 'solution' to violent gender crimes like rape-which is a
horrifyingly everyday occurrence in India - is to lock up women in the safe custody of their homes and not allow
them out in public. The response to such 'solutions', of course, is that it is not the presence of women in public
places which is the cause of rape but the predatoriness of men, who are the ones who should be kept under lock and
key where they can't do harm to anyone.

The only real and lasting solution to crimes against women is to stop discriminating against them, even with
the best of intentions. Instead of being 'protected’ from men, women want men to be educated - or rather, re-
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educated - on gender issues so that they no longer pose a danger to women.
It's a long-haul solution. But it's the only one that we can all bank on, women as well as men.

46)

47)

48)

Women's bank in a way :

1) Protects women all around from being oppressed 2) Emancipates women from the clutches of men
3) Confirms and perpetuates male dominance 4) Gives economic freedom to women
"Ghetto" is a:

1) Place where marriages take place with or without the consent of women.

2) Custom where women live in slavery against their wishes

3) Place where people of a group live in poor conditions

4) Place where the undertials are tormented by the law enforcing agencies.

What would women want?

1) Special protection 2) Men should be kept under lock and key

3) Parity with men 4) Economic freedom to get fully emancipated

Question number 49 to 50 :
A terrible combat ensued. The shark had seemed to roar, if [ might say so, the blood rushed in torrents from

its wound. The sea was dyed red and through the opaque liquid I could distinguish nothing more. Nothing more,
until the moment, when like lightning, I saw the undaunted captain hanging on to one of the creature's fins,
struggling as he was, hand to hand with the monster and dealing successive blows at his enemy. Yet unable to give
a decisive one.

49)  'Aterrible combat ensued' here implies :
1) A battle between the two sharks ended 2) A contest between the captain and the shark ended
3) A battle between the captain and the shark followed
4) Warfare between the captain and the shark concluded

50)  The writer describes the captain as ......
1) scared 2) angry 3) disturbed 4) fearless

49)  THETET T PRSI e, PHast, IE T IR & Hhd TRSH! SR, 3MTe T BRY AT Tosidlt wedT T IR, fgp
PN ST AT U AT g T hadl fiycst IUTIT AR 3/ Saebl 31T, T e i qo00
Thed 3TTRd TR Tl OR g ey arelt S1egehey e facelt Qe 2
) 3R0, 3%0 R)-3%9, 30 3) 9¢Ro, 380 8) %9, 30

51)  Three containers are filled with mangoes, bananas, chikkus and pears. Mangoes and bananas are equal
in number. Chikkus are double that of bananas. Pears are 3/4 of that of chikkus and bananas together.
If total number of fruits in three containers in 1000 how many pears and chikkus are there ?
1) 320,360 2) 360,320 3) 120, 360 4) 160, 320

43)  x B Hbd PIUATE! ATPRIT DT Nt AT 312 31T, x + 4 3Ty & Febd DIVATE! SBRIT PIGHT
Y T 1R BT, y2 A x AT y AT AT 3R, TR eSear refieht fhaa foveft 2

A/ -

9) 84 ?) 908 3) 4¢ 8) 9¢

52) A symbol x drawn to any size, means x + 5 and the symbol drawn y drawn to any size means y?,
where x and y are numbers. Then what will be the value of the given relation?
1)425 2) 104 3)58 4)18

43) Qo0 Hiex FiE T ATSTE Al v¢ B I WehiiaR IWT SSTT HIVRKATST UR IR, ATt

I = aneft o fpt I SR 9Yo Hiex @idih M) T AIURATST UR e, T S TSI <7
HIUMATST IR PRITST SHTUAT dodel fepc T thieh Tsdl ?

9) ¢ fafre ) 9/% fafre 3) 3/20 fafie ¥) § Qe
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53)

A 200 m long goods train crosses a man standing on the platform at a speed of 48 km/hr. At the same
time another goods train 150 metres long crosses that man at a speed of 60 km/hr in the reverse direction.
Calculate the difference between time taken by both the trains to cross the man ?

1)6m 2) L m 3) 3 m 4) 6 seconds
4 20

Y8) TP STeq IS AT SIEET QAT e 311 STYC FeVIT ol ST, QTaes! o I T MG IeT el TR et
fafre FRATIaR 2rafRud ST axd. @16 S74e U e ATfEdT a FaremredT ar= e s
gT9c — NO, GO, Fit, COUNTER, FORCE, I, TURN, NET
RRT 1 — I, NO, GO, Fit, COUNTER, FORCE, TURN, NET
R 11— I, GO, NO, Fit, COUNTER, FORCE, TURN, NET
ORRI 11— 1, GO, NO, Fit, NET, COUNTER, FORCE, TURN
RRY IV — I, GO, NO, Fit, NET, TURN, COUNTER, FORCE
TRV — I, GO, NO, Fit, NET, TURN, FORCE, COUNTER
SR §TYE "Class, Rat, An, UP, PEN, TRUE" 3@ %,

"An, UP, Class, Rat, PEN, TRUE" g SIUIT UrRId I35 ?
Q91 )11 3) I 8) IV

54)  When a line of words is given as an input to a word-processing machine, the machine rearranges the line
in a step by a definite rule. The input and the steps of re-arrangements are given below :
Input — NO, GO, Fit, COUNTER, FORCE, I, TURN, NET
Step I — [, NO, GO, Fit, COUNTER, FORCE, TURN, NET
Step I = I, GO, NO, Fit, COUNTER, FORCE, TURN, NET
Step III — I, GO, NO, Fit, NET, COUNTER, FORCE, TURN
Step IV — 1, GO, NO, Fit, NET, TURN, COUNTER, FORCE
Step V — 1, GO, NO, Fit, NET, TURN, FORCE, COUNTER
If the input is, "Class, Rat, An, UP, PEN, TRUE" then
"An, UP, Class, Rat, PEN, TRUE" will be in what step ?

) I Q) II 3) III Q) IV

YY) T fopehe Wargd! g thebUardl TRIRY 8. ¢4 U1aT Hfet fache 2icll, Tept Hawedl T YR TdT 58 Y fahe
e, MR ! o hepvdre! IRRRT 0.¢Y Tae! PH! STo! TR M Ha W@uagel @M Haee
frepedt e ot @it 2
) &8 ) 6 3) ¢o 8) Q%

55)  The balling average of a cricket player was 24.85 runs per wicket. In a match he took 5 wickets, giving
52 runs. Then his balling average got reduced by 0.85. Then how many wickets had he taken, before
playing the last match ?

1) 64 2)72 3) 80 4) 96
4g) O,P,Q 2 PU d I T 3ATea. AT svm FHoedn a1 wFaifawdt gdie mfedt armr.
a) THNIT U 1 a1, UiaxT g fUaer omme. b) Uit GLTT 3T 165, TeSTeT STIOT UIGRT AL
) IS T UehT T ATgl. d) Fd O =T HUmET A fOeest ATar.
e) ST P =T Hural I He0T A8l £) T Q TIT HUMT T UexT ATal.
o) |9 Q =T 92ffar I BT ARl h) @9 O dt 99ft giest amre.
3 P <1 92t & UTET SgehH T PIUICT?
9) UleRT I BB ?) fugest g Tosrelt 3) B g Ul ) TTET g fueest
56) O, P, and Q are three sets of 'cup and saucer'. Read the following information about these sets which are

not in any particular order :

a) Cups are blue, white and yellow in colour. b) Saucers are red, pink and white in colour.
¢) No set is unicoloured. d) Cup of the set O is not yellow in colour
e) Cup of the set P is not blue in colour. f) Cup of the set Q is not white in colour.
g) Saucer of the set Q is not red in colour. h) Saucer of the set O is white in colour.

What are the colour of saucer and cup respectively of set P ?
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1) White and red 2) Yellow and pink 3) Red and White 4) Pink and Yellow

40)

57)

a) P,Q,R,S, T 3T U g e faemeff amed, St vrdiree fawand ueeoR uedard! s1earas o 3ired.

b) ATIDT G STUT FARAIEIT T8, Qrel USIRE FgULd JTgad ST ARG Srel ST 8-t g,

¢) R USTRT AT 31 qasTIRr 3Te= vl

d) SRTErIr ereara ot faeneff smuet e <reat anfr Aifeadhia e Rt faereff dgmRe U
RTE e,

e) T TR R S Hifrpemar sread= e,

f) U MM S aAfcrggId Jrgaird.

g) T USTRE FgUT gl 3MoT Q Smue e g,

TR WU PO AT RIS AT ?

9) U-3fcer™T ) P-3usht 3) P-UST IRe ¥) R—Ed:T R

a) The Six students P, Q, R, S, T and U are studying different subjects at post graduate level. Their subjects
are English, History, Philosophy, Physics, Statistics and Mathematics, not necessarily in the same order.

b) Out of them two live in hostel, two live as paying-guests and remaining two live at home.

¢) R is not paying - guest and studies Philosophy.

d) The student studying History, lives a home and the student studying Statistics does not live as paying-
guest

e) T studies Mathematics and S studies Physics.

f) U and S live in hostel.

g) T lives as paying guest and Q lives at home.

Then which of the following pair is not correct ?

1) U - History 2) P - English 3) P - Paying guest 4) R - at home

4¢)

58)

yeAfegrear Sl Iy wi fFaer.
SR Audio = ¢Y 3R®, Video = ¢o 3™, T Radio = ?
9) ¢¢ Q) ¢3 3) 8O ) T PIvEr T8l

Select proper alternative in place of the question - mark ? If Audio = 85, Video = 80 then Radio = ?
1)88 2) 83 3)47 4) None of the above

4R)

59)

A,B,C,D,E.F, G H,I 3N J g ST 9, X 3Mfor Y a1 g9 e faqTebs 31ed. Ui SIvmed urg
HEHT IR, Qival 1Tl AT STHRTIAR 9 IATHEY 3R a¥Ifdes 31g X! ST UehT aeere
SRISR FER Y ST U v $iTg @ Tl dle Yehdepidhs 3MTed. X! SIHedT Sesiid! dis ST e armad.
D, A T Iordiens fRRT 318 31fYT G <7 YaheH SR ST 3118, B, G & fFidhead Ioidids aiaeT 31Tg 31for
T dls SRS TR, H, B T ITdidhs foRaRT 31T F 27 UaheH AHIR SAST 3117, C &T A 3MTfOT E =1 7ey
3R [ =T FHR TH3ST ML, WSBUD BIUTT HhITE ThTd I TH3ST 3T 2

9) HIE ) ACB 3)CDI $)HIG

The ten members A, B, C, D, E, FE, G, H, I and J are divided into two teams X and Y. Five members are
in each team. The members of both the teams are seating in two rows, such that, exact opposite of each
member of 'X' team, there is a member of Y team facing each other. The members of 'X' team are facing
North. D is third to the right of A and is seating exact opposite of G. B is immediate right of G and is
facing south. H is third to the right of B and exact opposite of F. C is between A and E and exact opposite
of I. Which group is seating in the same row ?

IDHIE 2)ACB 3)CDI 4HHIG

&o)

60)

TepT TRIaT Ueput femeartear 34 % faemeff 2 ar fawama srgeivl 313, vy % foemeff Susfia sriol simes amfor
0% faemeff ag! fawara ergiivl siad. R T faermeatear eemer ot faemeff qgt faward Sl #1mes 2
9) 9o Q) 3) 30 ¥) 8o

In an examination, 35% of the total students failed in Hindi 45% failed in English and 20% failed in both.
What percent of total students passed in both the subjects ?

110 2)20 3)30 4)40
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£9) P AR Yeies aMeedt e qafimed fFaer.
B D[D Fw  Ulu F|L D
w B L w T )
F ulu  W[F D|D L|F ul -
D F U L D U T F
L D L U
9 8
) U T ?) T F ¥ F T ) L D
61)  Select the figure from given alternatives, which will continue the sequence :
B D[D FwW U|U F|L D
W B L W T
F Ul  W[F D|D L|F ul ?
D F U L D U T F
1) L 2) D 3) L 4) U
U T T F F T L D
&)  HIURY FAVIRIT SATHIes Tebl 3TN HIVRATEAT Hge e 312 STIes! 3118 &l @iep dlepeiid STR QM el Sl
IS e e gHTedT ATd quiFl Rl d G AT FResed] qeard qule R, ATedTieh! Tehstur AT
RS Fares aguiRt oM. wad: 2T Gp e fIhRT FRUIRIe! Tedihgd o fHasfauarardt gt
T AT SMMRI. T ol MEeeR gTean BRI a¥IT TiET 31T SO i @hl Trelol STewsedl.
ITclies Qe e e gRITE SHIgSt vl Bld. Sicgl gral el g et clegl T geiies uferarg 3,
SR TR, '8 HTe U 3TTe, O Hi STl 418 Ygui e’
I e, | Ht el ggsreT Wt B AT S darad ugul o,
. . ?
) 3T S AT JEPGT Q) I fobar Fpg 3) Beh 3P ) Weh S
62)  In a small village in no man's land, brains of people are wired to answer inquiries in two sentences. One
of the sentences always describes the fact as it is and the other describes nonexistent thing. One among
them is the best archer of the area and you are there to get some tips from him for developing your archery
skills. On reaching the place you find three persons sitting in the shadow of a banyan tree enjoying gossip.
Two of them were busy mending their own arches. When you started inquiring with them, their responses
were as follows:
Aanu said, "This is my arch. But I am not the best archer among us.
Banu said, "This is not my arch. Aanu is the best archer of this village.
Chanu said, "I never touch the arch. Banu is the best archer".
From whom will you get the tips about archery ?
1) From both Aanu and Banu 2) From Aanu or Banu
3) From Aanu only 4) From Banu only
€3) Wﬁa‘s@ac% AR A de AT, mﬁagﬂﬁawaﬁaﬁaawsﬁ ﬁaﬁmsﬁw
TeRUT HATT 8¢ % A e QT 9900 A GA-AT SHAGRIET URTHE b3l TR FaSUehla YUl HiaR fepet
A ?
9) 9000 ?) WYoo 3) NQooo 8) WYoo
63)  Inanelection the voting power was not used by 8% voters. There were only two candidates in this election.
The elected candidate got 48% votes, out of the total votes and he defeated the other candidate by 1100
votes. How many total voters were there in the election ?
1) 21000 2)23500 3)22000 4)27500
gy) @l o fb.d. T Noag ARG dddR Wakd. SR a7 R0 5.1H). 7 arefder o~ Uh arT Saax digkd, TR
TN TGuT et 3R 1o ?
9) o Al ?) Yo fo Al 3) %o fbAL. g) o fob.Hf.
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64)  When the speed of a monorail is 60 km/hr it reaches on time. If the speed is increased by 20 kms it
reaches one hour earlier then how much distance does the monorail cover?
1) 240 km 2) 250 km 3) 260 km 4)270km
&Y) @, 0, $ 3T % AT Fcfieprar 37ef YEIGHHIY SEvAT AT 3Te.
P S Q= 37ef 312, P, Q UelT B g,
P+ QT 37 318, P, Q UeT HioT ATgl.
P % Qa7 37f 31T, P, Q Vel HIST ATeY 31T Q TaraT T
P$ Qa1 3 3MTE, P, Q U e el 3T Q Tl Arel.
P @ QT 31ef 3R, P, Q YT AiaTg! ATel fahar Q Uem Bgel ATal.
S UM T AR, e BIease o ISR 1, 11, 11 3ht Ffeaaaor spiorr /o I 31me /3ed

d YT AR ITRNIC! AT 4R et
: B%N;NOF;F*H
sy I-H$N
M-F%B
M-B%H
9) Wk 1 30T 11 A 3TTed. Q) Weh 1 3T 111 9T 3fTed
3) Wheh 11 37T I11 < 3TTed. ¥) Uehg! qe ATy

65) The meaning of @, §, *, $, and % are as follows :
P 6,Q means, P, is not less than Q.
P * Q means P, is not greater than Q.
P % Q means, P, is not greater than Q and not equal to Q.
P $ Q, P is not less than Q and not equal to Q.
P @ Q means, P is not greater than or less than Q.
Considering the statements true, which of the conclusion/s I, II, III is/are perfectly true ?
Select the correct alternative.
Statement: B % N;NOF; F* H
Conclusion: I- H$ N

ImM-F%B
IIT-B % H
1) Only I and II are correct 2) Only I and III are correct
3) Only II and III are correct 4) No one is correct
§§) WeAfgreAT SNl O gty s
& R 909
N ¢ 4
R Y 9&
38 | R0 ?
9) 9% Q) R Y B8 8) 3

66)  Select proper alternative in place of the question - mark.
16 12 17
2 18 15
19 15 16
35 27 ?

1)19 2)29 3)33 4)32

€0) IRUT yrg T, U aui Sl SR el TR
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I —
Ty |

A B C D E

Q003 9Q4.§ | Q& | 9¢.¥] 9&.& [R8.R

Q00Y% 9%.¢ | Ro.¢ | AR.Q|9¢.R |R3.¢

R00Yy Qc.¢ | R [ AR.C|A9.¢ |RY.¢

Qo0¥% 9¢.8 | R&.8 | R0.¢| IR.C |RE.8

Q000 ROR | RER | RRE| W8 |UR

RS A ST B s, | auiea ARRRT sieh’iedid, 59, C, D AU E e He auiean IR slepaedaf

3FHH THTOT 1 2

9) 49: ¢ ) Y3:¢q 3) YuC3 ¥) Y3y

67)  The population of five states, of five years, is given in lacs, in the table.
States —
A B C D E
Years |
2003 156 | 226 184 | 166 |242
2004 16.8 20.8 192 | 182 | 238
2005 18.8 24.2 198 | 178 |258
2006 184 | 264 | 208 | 198 |264
2007 202 | 282 | 226 | 224 | 282
What is the proportion of the average population of all years of the states. A and B taken together, with
the average population of all years of the states C, D and E taken together respectively ?
1)51: 82 2)53:81 3)52:83 4)53:85
&) RS Fawe e ded FifosRad Yacsics A 0N JEis Ug e -
F@53R$JPEIH%I1Q4B8AW2UG6*90ZNMOV
SRI;1%Q;8WU;?
9) N © ) 697 3) *OM 8) *ON
68)  Learn the system and find the next term in the given series :
F@S53RS$SIJPEIH%IQ4B8AW2UG6*98ZNMOV
SRI;1%Q; 8WU; ?
HOIN®© 2)697Z 3) * M 4) * 8N
€]) WIS 31eR FAPIUNER ol RN BRI 37T o NS T TG IMYRTER Fae WG el JoeT
o o K
SOTGIehgrT 1A &R DU ?
9) A Q) C 3)F 8)J
69)  From the following alphabet triangle find out what that system. On the basis of the system, which is the

third letter on the base line from your right ?
K

A 2)C 3)F 4)]
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Yo) f3PIUT ABC & FHYST B3PIy 312, TR OBC & FHGHST BpIvT 3. SR £BOC & 900° T 3R& R LACO
fopcht arIes ? A
@]
B C
q) Q0° ?) 30° 3) &o° 8) 8Y°
70)  Triangle ABC is an equilateral triangle. Triangle OBC is an isosceles triangle. If angle BOC is 100°, then
how much will the ZACO be ?
A
@]
B C
1) 200 2) 30° 3) 60° 4) 45°
Va) U THAR S IATed. DT FHIT IR 9 IRIT, 3Tchies Arii faa~ur gefe ae e JelasmTo
BacS 3.
B 39S
3F Tig - BB
S U - PP
A TS - WW
U Oel® g Wb 9g . — WB
Ud gEI1e d U U - WP
PV 7 ST B4 T YHR ISBfIes Y, DIVl Seared o At 718, B 9o 1 searaR
37e. SR WB 37O PP 3 1o S6 SHSe MU Mo IR aR<jueh! BDIUKiel He1ss TRie Ik WW 3R
39S ST SR 3RS AT ST S DIoI AU A 3RS ?
q) PIUHE TR TSAS TS R) U IR T IS
3) U O] g 3NG 8) T IR U SIS
71)  There are five similar boxes having labels, indicating the description of the items contained in them, as
follows
Item Labels
Two Balls - BB
Two pens - PP
Two Watches - wWw
One watch and one Ball - WB
One watch and one Pen - WP
Some one has changed the labels on all the boxes, such that, no box contains the items, as per the label
on 1t.
If the boxes with labels WB and PP are opened and no item is watch, then which statement will be true
in case of the box, having label WW ?
1) No item will be watch 2) One item will be watch3) One item will be ball 4) One item will be pen
Y2) A,B,C,D,E,F 3 G U Pgard TG 3Ted, S TR FIR 3R oI 9155 31T, I G F
31T G At 3. A 3T D g |1 3RIT A ST 3MMR. E e SRR SR QI Wiaiiehl Thrited faTgag
3N E &1 M 319 31Md. B, D A9 faanfEd a1me o1fir G e 31U 3. R C iy 38 ?
) AT ST R) E o goiht 3) Fd oo %) G IT I
72) A,B,C,D, E, F and G are the members of a family. Out of them, four are adults and three are children,

of which two, F and G are girls. A and D are brothers and A is a Doctor. E is an Engineer and has married
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one of the two brothers. E has two children. B is married to D and G is their child. Then who is C ?
1) Son of A 2) Daughter of E 3) Father of F 4) Brother of G

©3)

73)

T BT JOT PRIIBT PR STERIUET Yo fGa= PBHY BRI, TR 9 P PRRIGT FTHSGT A&IUer 94 s
STRRT BRI, SR PR ST 3FerT Srel fHesT g i 92 faaia qut ahve JRciies TR STeRT AT FIHST &
DM YUT PRI febell fad omreites ?

1) 9o fea ?) Yy feaw 3) 0 foaw 8) ¢ feaq

Kabir requires 10 days less than Akshay to complete a certain task. Satyam takes 15 days more than Akshay
to complete the same task. If Kabir and Akshay both take 12 days to complete the task together how many
days will be required by Akshay and Satyam together to complete it ?

1) 10 days 2) 25 days 3) 27 days 4) 18 days

%)

74)

Tl LA SESTHIAT et HeRIbI PR U JHeITdS QF o S B% &I RIcIra!
PR P! AR, ¥ Aafeerdt anfies R Tt Fiea™ o et emedd 9 &% gad T
IRIE) o T WifiicTes 3T, rel P aRIcs ?

9) T AGUGL oo forest TR FHAT PRUTRATS! HEH hIes I URUITH UTEUIRITST ATeTes.

R) AT SIS IS FAT AT PRI

3) o1 Feferd faummes TR AIfAuaRT TR,

) UiiesT ATHTISTD ST T i STTaIR ehRUARNT RIS,

You as an administrative authority have been approached by a house wife of a well established entrepreneur
complaining harassment for having two daughter. She also informs you that her parents are not financially
well off to help her in this matter. You would :

1) counsel wife to empower her to face the situation and wait for the result.

2) arrange counselling sessions for the couple.

3) ask her to lodge a complaint with concerned department.

4) ask wife to make husband's behaviour public through social network

9Y)

75)

aRFRIE : oM ITaTchies TrEfior ATl TRie Pgardhs Faeadied JRITd TS YR Ffead oo 3Tg,
HRUT FEaief RIS ST ATRNT AIIIOATT I8 SATGT AVR $-Pledt i A0 oy o g
S I SR, a7 AMe SHfadgrht, arr o Agsafeas ST ISR gt ad SiivuiaRmTds!
BRI @ UdE 3. Afardl VIR Gasun &1 U Hewara! 919 3fgd. Stia-dT (bR Fgurst Hicrs Sty
3R Al IRITGIE] FEOIT. JFISHTON MaTciics TITaRUIE! ST ikl adc: HSfsT STaileh Ui glesed =
ar AfeT QT Th Jewmmar |id 378,

3R STIATR! ST QAT 7 arRuTa TR IR Bid SRITe! iaIad SRl ST T Hgard]
TREAT 0 T 3R T TT &0 TTHITID! Yo Tk AT TeeT IR Pxelle. IT SIS PBIRV SF AAIAS Tt o
3R P, AR QST FiUH™ UROT g gieresm yofta’ ' SR M iarearaT aieR 7 HedTs vl
THR gRUTEIET SHHMRTT STAf -or a1 i1 fRIfdd axor Jrm r9ia oie. S TER. I Ie
ST 31Tt i STTaegesd 3TTR 31 dTed.

TR : SR JEIST 31T BIboTiycht SIRIFTET SraT TIR FRUIRT Afded R e ERISHHTIAR 300
PV A ST PRI

a) SireTeaTe At aTRTe STSITaR SHR SRvAHe SIRIATERIE BV BT TR HHI Eiie.

b) TG T qIATERYI fCehdT Sadm Asa.

¢) T ufdsT, fadnd: Afterd uiE a3, d) Tl SeaTeHdT T rfaRAST SURT fwe.

Rl I

1) (@), (b), (), (d) R) (@), (c), (b), (d) 3) (b),(c), (), (d) 8) (d), (b), (¢), (a)
Situation : Government has formulated a policy to ensure that each family in rural area of the State should
have a toilet as most of the diseases and epidemics are caused due to e-coli found in human excreta carried
through the use of contaminated water. The loss of human life, mandays wasted and the loss of wages
due to these ailments and expenditure required to be incurred on the treatment is enormous. The
embarrassment to the female population is another factor, so also the village environmental pollution caused.
The Supreme Court interpreted Right to life means life with dignity. In fact, human excreta, if treated
scientifically, is a rich source of organic manure.
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In spite of these provisions and severe consequences the percentage of rural families having toilets is only
60% and out of these, who are actually using the toilets is only 50%. The failure is ascribed to the fact that
toilet policy is “Construction oriented” and the element of educating and sensitizing the people as to the
adverse effects of the non use of toilets is squarely missing. It is felt that a strong public education campaign
is the need of the time. Question : If you are assigned a role of preparing a public awareness campaign, which
of the following elements you would incorporate in order of priority in the design of the campaign;

(a) Regular use of toilet reduces health hazards of open defecation.

(b) Maintaining the ambience of the village.

(c) Maintaining the dignity of the human being, particularly women folk.

(d) Boost to farm productivity and economy

Answer .options :

(1) @), (b), (). (d) 2) @), (), (b), (d) @) (b), (¢), (a), (d) (4) (d), (), (), (@)

vg) IR TR g A e U Q9 aufdl IRHRI Rgge! SISt TR0 PRlBRE! Fae wRuaT
STTEERT TR 3R, I TR SRIBST U AR HBIBRel dosl T a1 AfEr FewT Mg, a1
yfcrg=n gt Faifed arel SraRIdrT Affiear ST Wl HERAT T el AU e
31 HAIDR g AT AR BSIDRIIT AL 3T a1 T ATl femeaien Geeridie smed. Il
PRI ?
9) PATHRIN NS g 3ifem Fag AR SISt T oS ey SR axuar fmd) e.
?) a1 adffea Risged fAISediamed T I8 a TR I 2chid! IRFA SER IRIe.
3) A AepTes 8 Oxag ford B ATaad FedT A IaT RIe.
8 AT AT e AR A 1 FRUIRIIS AR Je8 ATSraT GH: kR @, HeHTd gIoTR Tet
31eft preBeit TS, Tt Hffad e AR awuard famdt axie.
76)  You are a government representative and a member of a committee that has been given responsibility of
selecting young artists for awarding two year government scholarships. An influential artists of high
reputation is also'a member on this committee as an expert. After studying the shortlised artists, for this
prestigious state scholarship, another member brought to your notice that many artists are from the institute
that is managed by this reputed artists or institutes that are managed by his past students. You would:
1) taik to the artists and request him to make selection criterion public for avoiding biased selection.
2) maintain silence with respect to selection of awardees of this year and then publish the misdeeds of
this person.

3) halt the work of the committee by dissolving immediately and form a new commiittee.

4) request all the member of the present committee to go through the original list again and with unbiased
approach freshly shortlist the candidates.

Vo) TR SIIGSET Hagrefie IR HATADRT W STTeld. QM o] STITea] WHRd <ehl Helyes SToor
QT AU STTHIles BlepHed SRAAIN URRad 3TTed. 31edest Tl —

q) el SR TR STCHh TRUATT ThIcs T TN,

R) S I T SieTay AeaTed QTidd! Sieul T s,

3) SRl ST YR RICTeS ST T [maigeeh 2Teaic A,
8) T HRUT ARSI TIadT Jeios AT e JEe.

77)  As an administrative incharge of a communally sensitive area, you are faced with a situation where the
religious heads of both the communities have given inflammatory speeches thereby inciting violence
amongst their respective communities. You would :

1) immediately order the arrest of the two religious heads.
2) call both the communal heads together and try to broach a peace deal.
3) call both the heads individually and do some ""humble taiking" with them to explain the situation.
4) report the matter to your superior and wait for appropriate instruction.
©¢)  aRFRRAT : 9R13 e Vo Thies AT & 092-93 HE VeI IR GXPIcs AL Teb FesHcT ThReb Il

B, IR93 AT GRPIBNT AT CaTs HIGHT HHUIR gl R 09— 93 HE2 UTvaTeit <ilg g SIvr 3TTe.
BRI WESHT AR e e, TRy oA sTaedes dae fivar uriigeT Suse g, akig Y&t fics Sifia slisrar
TRIC URATE 3Teses! TGN, ST Al T vl SuTses 3T oIE ARIGE, FORISSARRAT AR b TG0ITes o
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78)

fIvaT AR T SRR TR 1o FAmior 2kiies. TET G Isaid gl o] HId! Sita arafal g 3t

IS 3T

e : 3R URFRIT & ArcTeret URFRIH FITeuaTd! STERQR! STUIER IR WIHIBHD! Hoc! SUTIASTT

STIT FTETRIT ST A0S

a) T4 AT ST @t aroft A1 Tk fuaTeRar IR Sau.

b) SeH=TeA T dieh aRIT ST @i Sedet g I, aod fivarear uroareht TReRIET YRTfIest STt =gupd
IuGey aroft AT Qg IS Yo—Yo Tk dred FRIST ahvul.

¢) R ATHI S TpHa AT FYEIT AR 3R 37foy e 1R anfdfes aformr argan srt
SIS UL S TUH MTaeadh dag amft ScfieRar Idfia aor.

d) UIvard gty SEd B AT SART DIV AT TRIed IRIR-Iep Ugya dTufl GgT e 2R
SRR ARV SR g, AR G ST aTIRuATST HIcATET <91, R A Sitg [
feehodITa 31T MR PIGTART JUTIRY ITAR HRAT IS,

LRSI

) (@) R) (b) 3) (@ 8) (c)

situation : One major difference between the severe drought faced by the State in the year 1973 vis-a-
vis year 2012-13 is, where as there was a food scarcity in 1973, the year 2012-13 reflects acute water scarcity.
Thousands of villages do not have even adequate quantity, forget appropriate quality drinking water. Most
Rabi crops could not simply be sown as the moisture in the soil is completely dried away. The chemical
contamination like Nitrate, Fluoride is causing a grave concern even where water is available, which if
consumed would lead to grave health hazards. Human survival till onset of the monsoon is the major concern.
Question : Under such circumstances if you are entrusted with a responsibility to tackle the situation, which
of the following options would you resort to, on priority to manage the immediate crisis.
(a) Reserving all public and private water sources exclusively for drinking water purposes.
(b) To strike a balance between farmers losing their income of Rabi Crops and also to ensure acute drinking
water needs, 50-50 distribution plan for crop survival and drinking water.
(c) Asthe poor farmers will be losing their only income source which may have severe economic consequences,
crop production will be given priority and most of the water will be reserved for the agriculture purposes.
(d) Even taking the risk of diseases people will be motivated to use chemically contaminated water for survival
till onset of monsoon to save human life there being no alternative as diseases can be cured in due course.
Answer options :

1@ @ ®) . 3@ 4)(©)

©R)

79)

T e AT ST UahT SIMQRIT IS e aTﬁT‘aTngq’Rﬁ Wﬂﬁ@&ﬂfﬁﬁf{ ISIECOEIH
El Wﬂ?gﬂo‘ﬁﬁaﬂﬁﬁmwéﬂ 3TTR. SPIGR AT o g fawd ERICIRIE R
TR SPIGRTE! @R AT IR AT Yo% AR, THMGRM T S I AT o UosiTDS TS
@mewm arer uRFRIAT Tret T Ul STfAIhRY FUT HIvreT Aggl e ?

9) RIS SHFERTERN feRTEITeT TepR AAlfaor.

?) REENEING {iﬂlqwc’ql (SNCQI fohrcicT TG PRIGIRT ST,

3) AT SRIBRTET TR P DGR UHD! ETes.

8) FRI=T ST ST frepudrerT SRIST hRTaT 1Y) febHe SSTIR HIETUaT ilS! i W SehHaRTed WRal

el 3ifdres aime.

Your friend has rented his shop to a shopkeeper and shopkeeper has not paid his rent for the last one

year and now refuses to vacate his shop. Shopkeeper has offered to purchase that shop from him but

only at 50% of the present market value. Shopkeeper uses his contacts and has threatened him of dire

consequences if he lodges police complaint What kind of advice would you give to your friend as a

police officer ?

1) Lodge a complaint against the shopkeeper with the police

2) Negotiate with the shopkeeper for a higher price and sell it.

3) Use your power for threatemng the shopkeeper.

4) Try to sell the shop to a 3" party at a price slightly less than the market price but higher than the
offer of the shopkeeper.
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¢o) TR BIp¥dl RN ARG ST RN, AT Seed] T Pl AR FShesd Traldl

AT, 3FeT A el PIT PRI 2

q) TR STHTThS @&l 7 odll JBRaciea fSehrft drgrres..

Q) BifIee 3T TINT FCIMST TSI CfosthiFas Hifgd! edb.

3) WIS g SFregead! Aed ATTETS g ot ASHRIT firek eiarss.

8) UIBRT G SgeIeT AGd PRIGIT AR TN JEdhesed] T AT,

80)  Suppose you are going for Public Service Commission's Interview. On the road you see an accident in

which few men are stuck in. What will you do ?

1) You will not pay attention to the accident and reach the Interview destination.

2) You will inform nearby Hospital and Police station telephonically regarding the accident.

3) You will call Police and Ambulance for help and wait till the help reaches.

4) You will ask local people to help police and Ambulance in the rescue of people stuck in the accident.

I : ISTHAT JAURIET 9¢ 7 2093
-9 R-R 3-8 8=3 4-3 =9 v-2 ¢-9 - 9o-3
99-% 9R-8 93-9 98-3 94-9 96-9 quv-9 9¢-% R-3 Q0-¥
R9-9 Q-8 R3I-9 -3 R4-3 G- R9=19 (- R-9 3o-%
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